EARAROBEEIERT — 2 N— IBISH —F

201557/ 168 (k) 9EIEMH2H

IR C2= 5% 3%t B R
[A&4£] 1 7% :300,000 ™ ~ 23#%&:60,000” ~ 33&:30,000H”  437%&:18,000 ™ .~ 5 7&:12,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
ISP :31. —6-1- . — FEHE (AH
11515 N9 T 42— 4 3 25-0 1(:2)7 6-6-1-1 39.8 8 (i:g) ehiiesd
L:Er/0704 B:Arho¥FSM b R EE
. TR 132, -3-3- . - A (FhR)
5 4| TrTENER H o4 I (12312/21) 3-3-3-3 | 40.2 1 (4_830) ik
R:A—JIh7z B:2)>F [ R4
T T ft 3 | EREE 1:32.6 2-2-1-2 | 40.9| — 4 467 | REREL (EM)
31777y 7URL 54.0 3) (1) | EAIH—ER
Zon4n B7Y 17— H RS AR
AZmER : 56— - ABE= (EM)
+B3| 7V /~1E— o7 8 1.(343).3 5-5-6-6 | 41.1 6 (4_732) 2]
Rix>ingan— B:RK)-—<J— KT 7 — L
TR s 3 | TkhEt 1:33.4 7-7-9-8 | 41.1| — 2 451 | RAFME ()
5111 ]|TM¥>ov>T7— 54.0 (1/2) (-3 |FH=E
R:xF1=g7— B:IA>L T v FERS
S o BEH#T :33. === . — KIFER (FlH)
s~ F3> 3K 43 55% T 1(33/34)5 7-7-7-7 | 41.2 10 :?2) S
L:7H4F2A>NK BV /X¥byT RE EF
N 3 | MREFR 1:34.3 9-9-5-4 | 42.0| — 9 463 | miUER) (EE)
1 - BRI EZAE "3 & O | B
R:FFHATFFHTd BNMLYIYEX LSNPS
SN - ALEE : —1-4- — FiEXE ()
8l7l8|¥a>7hx R 1'(334)'8 s e ° (::;) A=
A=y BNZFRY J—HrTp— L
5 3 | AFifE 1:34.8 10-10-10-9 | 42.2 | — 7 463 | FRFI=(F (EM)
9lglo|7— Ay Ow # 54.0 (2 E) (-3 |MEHR
LI INATA—h— BEJRNUTX—7 HF TFH
3 . > 3| BTE— 1:36.0 4-4-7-10 | 44.1| — 3 470 | MAHIERS (FEf)
1olgligl ¥z —>773 “ 7| 8.0 @ (4a1) | AHHEES
L:TF9vI84K BTN ELAL b RS
® 1—F—@EBIERL
13—74— 8,7,4,10,3,5,(1,6),2,9
2a=5"= 8,7,4,10,3,5,(1,6),2,9
== (5,7),4,8,2,3,(6,10),1,9
43—+ — 5,7,4,2,8,3,6,1,9,10
[ /N
B 5 1,750 714K 4-5 710 e E 4-5 1,810 JEE 4-5-7 2,690M
B B 5 360M 5-7 870M B = 4-5 1,330 EE 5-4-7 21,0204
4 140 4-7 290M B H 5-4 5,280
7 220M

ABICOVWTRDTEEERROODE. TR LIV,




